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Ei 0. 940 1,071 0. 597 0.715 2. 000 1. 312
xig2 | 0.571 1.064 | 0.310 | 0.708 7.000 | 3,565
Fi#3 | 0.564 1. 061 0.305 | 0. 706 7.000 | 3.538
x4 | 0561 0.987 .| 0.303 | 0.638 | 6.000 | 2 824
x5 | 0.000 | 0000 [ 0000 | 0.000 | 0.000 | 0.000
Zig6 | 0.000 | 0000 | 0000 | 0.000 | 0.000 | 0000
Kig7 0.000 | 0.000 | 0.000 | 0,000 | 0,000 | 0.000
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Zi11 | 0.000. | 0.000 | 0.000 | 0.000 ! 0.000 | 0.000
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ZsE11 | 0000 | 0000 | 0000 | 0000 | 0.000 | 0.000
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Zi%13 | 0000 | 0000 | 0000 | 0000 | 0.000 | 0.000
Zis14 | 0000 | 0000 | 0000 | 0.000 | 0.000 | 0.000
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X816 | 0000 | 0000 | 0000 [ 0000 | 0000 | 0.000
F1#17 | 0000 | 0000 | 0.000 [ 0.000 | 0.000 | 0.000
xi#18 | 0000 | 0000 | 0.000 | 0.000 | 0.000 | 0.000
A1 g, 000 0, 000 0. 000 0. 000 J. 000 0. 000
X#$20 | 0000 | 0000 | 0.000 | 0000 | 0.000 [ 0000
Fi#21 | 0000 | 0000 | 0.000 | 0.000 | 0.000 | 0.000
xi$22 | 0000 | 0000 | 0.000 | 0.000 | 0.000 | 0.000
K23 0. 000 {. 000 0. 000 0. 000 . 000 0. 000
xi$24 | 0000 | 0000 | 0000 | 0000 | 0000 | 0000
=525 | 0000 | 0000 | 0.000 | 0.000 | 0.000 | 0.000
Ei526 | 0.000 | 0000 | 0.000 | 0.000 | 0.000 | 0.000
p Al 0. 000 0. 000 0, 000 0. 000 0. 000 0. 000
XiH28 | 0,000 | 0.000 | 0.000 | 0000 | 0000 | 0000
Ei$29 | 0000 | 0000 | 0.000 | 0000 | 0.000 | 0.000
%30 | 0000 | 0000 | 0000 | 0.000 | 0000 | 0000
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